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ERRATA — FIRST AND SECOND PRNTINGS

Page 17, middle of page, 3rd equation now reads . . .

09D +1.0E=0.62D + p Qr =323 kips (tension)
Page 20, top of page, 3rd equation now reads . . .

Q, Op =2.0 O =2.0 (286 kips) = 572 kips

middle of page, equation now reads . . .

P, = 1442 ksi)(11.9 in” + 17.86 inz) §in(37.6°) = 615 kips

last equation now reads . . .

P, =1.48 D +E,, + 0.5L = 1.48 (78 kips) + 615 kips + 0.5 (44 kips) = 752 kips

Page 25, bottom of page, equation now reads . . .

PE = [Ry FyA4 - 03 FcrAs]COSy - F4n'ght

Fyight = % [(R,F, + 03F)A, — (R/F, + 0.3F,)A5] cosy

= % [(1.4 X 42 ksi + 0.3 X 34.7 ksi)11.9 in?

— 1.4 X 42 ksi + 0.3 X 33.2 ksi)7.86 inz] cos 37.6°
= 112 kips
Page 26, top of page, new equation reads . . .
P. < (1.4 X 42ksi X 11.91in? — 0.3 x 33.2 ksi X 7.86 in%)cos 37.5° — 112 kips
= 380 kips
first equation now reads . . .
Py = 1.48 D + Op(max) + 0.5L = 1.48 (2.1 kips) + 380 kips + 0.5 (1.1 kips) = 384 kips

last equation in series at midpage now reads . . .

¢P, = 094, F., = 0.9(19.1 in2)41.2 ksi = 708 kips
bottom of page—Ilast 2 equations now read . . .

P, _ 384 kips
¢c P, 708 kips

P, +8 M, _ 384 Kkips +8 168 kip-ft
®cPy 9 G, M, T08kips 9 499 kip-ft

=054 > 0.2 Use interaction equation H1-1a.

=084 <1 ...0k.



Page 33, 1st equation now reads . . .

_R,F,A _ 788kips

= = = 2
Wmin CI)Ftt 0.9 X 50 ksi X ¢ 17.5in /t
under first text paragraph, 4th equation now reads . . .
_ RF, A _ 788 kips CAn
Woin = 9 F, 51 7 Voo = 575 65 ki x 7/81m + 10 = 2000

under “Check vertical section of gusset plate,” 2nd line of paragraph, change 1 inch to 7/g-inch

Page 34, middle of page, second equation now reads . . .
OR,=¢(b+5k)Fyt, =10 [13 in + 5(1.50 in)] 50 ksi(0.550 in) = 581 kips
Page 35, first group of equations, 2nd equation now reads . . .
OR, = ¢ (a+5k)F,t, = 1.0[13in + 5(1.15 in)](50 ksi)0.450 in = 422 kips
under “Check beam web for crippling,” third equation now reads . . .
N>d/2=92in

fifth equation now reads . . .

3
: in\? 29,000 ksi(50 ksi)(0.750 1 :
dR, = 07508 (0450 in)Z ll +3 13 in (()450 1n)2] \/ Sl( Sl)( m) = 251 kips

18.35in \0.750 in 0.450 in

Page 38, 1st equation now reads . . .

Kl _ (1.0)(14.5in) _
" (7/8in)/ /12 >

3rd equation now reads . . .
F,, = (0.658%/Fe) F, = 39.8 ksi
4th equation now reads . . .
¢ P, =09A4;,F, =0.9[(2)(10.0 in) x 7/g in] 39.8 ksi = 625 kips
6th equation now reads . . .
¢R, =P A06F, +UALFL,)
Page 39, midpage last equation under “Plates:” now reads . . .
A, =081[125+4] =134 =4, ...0k.

Page 40, 1st equation now reads . . .
¢ R, = 0.75(0.6)(70 ksi) [*/16 in % g(lZ in)] = 84 kips

Page 42, 2nd paragraph under 8b, 1st line, change 1 inch to 7/g inch.
bottom of page, 1st and 2nd equations now read . . .
Veon = (Ry Fy Ag — Prax)sin(y) = (788 kips — 574 kips) sin(37.6°) = 131 kips
Heon = (Ry Fy Ay + Ppax)cos(y) = (788 kips + 574 kips) cos(37.6°) = 1080 kips



Page 44, first equation now reads . . .

_ My, _ 16,500 in-kip _ _. L e
¢~ Vcon B 131 klpS =125 m, w="10 1, We‘ =Vde + W 2e = 9.621in

midpage 1st equation under “Check tension area” now reads . . .

Wy = 4e? + W?—2e = \/4 (4in)2 + (28in)2 —2@)in =21in
bottom of page, under “Check vertical area in shear,” 1st and 2nd equations now read . . .
¢V, =¢0.6F,A, = 0.9(0.6)(50 ksi)(30 in) (7/g in) = 810 kips
Vi = Pmax X sin(y) = 574 kips sin (37.6") = 350 kips
Page 46, midpage 2nd and 3rd equations now read . . .

Heon = (RyFy Ay + 03 F,, Ay) cos(y) = (788 kip + 135 kips) cos(37.6°) = 731 kips

Meon = Heon(tyyy + %”) = 731 kips (6.25 in + 9 in) = 11,200 in-kip

Page 289, Table 7-5, 2nd line of last column now reads . . . 3.231
Page 290, 8a, equation following text paragraph now reads . . .
(1.2+0.25ps)D + pQg + 05 L
Page 293, mid-page, under “Per ACI §21.3.2.1,” 4th and 5th lines should read . . .
= 876 kip-ft = 747 kip-ft .. o.k.

From the frame analysis, Equation 5, positive moment is 404 kip-ft.

bottom of page, above last text paragraph, should read . . .
= 439 kip-ft = 404 kip-ft .. o.k.

Page 294, 8c, first paragraph, line 2 . . . change n/2 to d/2
Page 301, 9a, equation and text following text paragraph now reads . . .

Z:]Wnc = (6/5)2Mnb

The controlling girder location occurs at levels 2, 3, 4, and 5. The girders are 24 inches
by 36 inches with 5 #10s top, 5 #7s bottom.

Calculation of —M,,, (negative, at beam tops)

Last line now reads . . .

_ - ) . _4.67in 1 _ L
My, = (0.90)(6.35 in )(60,000)(33 in — 467 )12’000 876 kip-ft

Page 306, Figure 7-9 title now reads . . .
Figure 7-9. Column P-M diagram for 30-inch x 36-inch interior column



